Entry 3

Numeracy quiz

=

What is seven hundred and seven in figures?
A 701
B 707
C 77
D 777

2 A cup of tea costs £1.30. How many pence is this?
A 103 pence
B 13 pence
C 130 pence
D 30 pence

3 Toasters cost £14.45. What is this to the nearest pound?
A £13.50
B £14.00
C £14.50
D £15.00

4 There are 15 tulips in a bunch. How many tulips in four bunches?
A 154
B 19
C 45
D 60

Questions 5, 6 and 7 are about this graph. It tells you about the dogs owned by
members of a dog-training club.
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Number of dogs

collies spaniels mongrels retrievers  terriers
Breeds of dog
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5 Which breed is the most popular?
A collies
B retrievers
C spaniels
D terriers

6 How many more collies are there than terriers?
A 4

B 3
C 2
D 1

7 How many dogs in total come to the dog club?
A 31
B 29
C 27
D 25

8 1 metre is the same as
A 100 cm
B 100 mm
C 1000 cm
D 10cm

9 What is the correct answer to this sum?
255+ 62+ 101 + 8
A 536
B 435

C 426
D 417
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